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Answer:

1) 1415/, + 142/ 2) 23, + 8, 3)  Convert the following fraction into a
mixed number: 33/
Answer: Answer: Answer:
4) Find area of triangle 5)  Anamount was increased by 8% to 6)
a p h=113in,a=458 $23.00. Find the original amount. 29 Find Volume of
in, _ 23 | Cylinder
c b=806in,c=961in —
Answer: Answer: Answer:
7)  Convert the following mixed number 8) Find area of square 9) Find the percentage change from 100
19'2/, 5 into an improper fraction. having each side (s) to 50
s equals 726 cm
s
Answer: Answer: Answer:
10) Find area of square 11) Find perimeter of 12) Find perimeter of
having each side (s) b rectangle having square having each
s equals 937 m sidesa=663cm s side (s) equals 171 ft
a andb =158 cm
s s
Answer: Answer: Answer:
13) Convert the following mixed number 14) Convert the following improper 15)
143/ into an improper fraction. fraction 1416/, + 118/ into a mixed 24 Find VVolume of
number Cylinder
Answer: Answer:
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triangle s= 666 in

16) 12 13,.-20 ¥, 17) Convert the following fraction into a 18) Find area of
mixed number: 19/, triangle
b b a=572cm, b =594
cm
a
Answer: Answer: Answer:
19) Find perimeter of 20) 15, + 6% 21) Convert the following mixed number

7 1g 1Nto an improper fraction.

Answer: Answer: Answer:
22) Find perimeter of 23) Find area of 24)  Convert the following mixed number
triangle b rectangle having 2013/, into an improper fraction.
b b a=487ft, b =667 sidesa=629 cm
ft a and b =451 cm
a
Answer: Answer: Answer:
25) Find area of square 26) 23,0+ 5% ¢ 27) Find area of
having each side (s) b rectangle having
s equals 687 in sidesa=945in
a andb=929in
s
Answer: Answer: Answer:
28) 38y x 3/ 4 29) Find area of square 30)
having each side (s) Find Volume of
s equals 278in Square Pyramid
s
Answer: Answer: Answer:

Copyright 2021 - Geek School Tutoring Limited

http://www.geekschool.co.uk



http://www.geekschool.co.uk

Name:

January 05, 2021

GEMERAT

Sr: 05012021-1899
MATHS WORKSHEET FiI}

11-PLUS
SATS
GCSEsS

o
=

31) 54,,x 13%, 32) 33) Anamount was increased by 10% to
Find VVolume of $129.00. Find the original amount.
Pentagonal Pyramid
21
Answer: Answer: Answer:
34) Find perimeter of 35) 51216+ 2%, 36) Find area of triangle
a p triangle a=559cm, b =289
h =402, a=643ft, b ¢ cm
< b = 673 ft, c = 993ft o
E|
Answer: Answer: Answer:
37) Find perimeter of 38) Find the percentage changefrom 8to || 39) 9 7/,54-13 154
sguare having each 18
s side (s) equals 314 ft
s
Answer: Answer: Answer:
40) Anamount was decreased by 3% to 41) Convert the following fraction into a 42) Find area of square
$213.00. Find the original amount. mixed number: 29/, 5 having each side (s)
s equals 675 cm
s
Answer: Answer: Answer:
43) Find perimeter of 44) Find perimeter of 45) Find area of triangle
b rectangle having a p triangle a=160ft,b=295ft
sdesa=970m h=248,a=282m, b ¢
a andb=458m c b=767m,c=
822m a
Answer: Answer: Answer:
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46) 151/12 X 169/18 47)  An amount was decreased by 3% to 48) Find perimeter of
$458.30. Find the origina amount. square having each
s side (s) equals 863 in
5
Answer: Answer: Answer:
49) Find perimeter of 50) 22% of 62 51) Find perimeter of
triangle square having each
b ¢ a=259in,b=491 s side (s) equals 364 in
nl in,
3 €= 640in s
Answer: Answer: Answer:
52) Find perimeter of 53) 810+ 16 54) Convert th? followi5ng improper
a p triangle fraction 11+/,¢ + 17/ into amixed
h=201,a=428 number
c cm,
b=431cm,c=
832cm
Answer: Answer: Answer:
55) Find area of 56) Find perimeter of 57) Find perimeter of
b rectangle having . . triangle s= 899 cm . . triangles=148 cm
sidesa=570m
a andb=108m N r
Answer: Answer: Answer:
58) Find the percentage change from 5 to 59) 31/3 X 21/2 60) Anamount was decreased by 1.5% to
99 $470.00. Find the origina amount.
Answer: Answer: Answer:
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1) 1%, 74 2) 115,

8) 527076cm 9) -50%

15) 36492.740264099 16) 15534,
22) 1821ft 23) 283679cm
29) 77284in 30) 4116

36) 250432cm 37) 1256ft
43) 2856m 44) 1871m
50) 13.64 51) 1456in
57) 444cm 58) 1880%
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3) 6%

10) 877969m
1717,
24) 233,
31) 70235,
38) 125%
45) 23600ft
52) 1691cm
59) 8%/

Sr: 05012021-1899

MATHS WORKSHEET

Answers:

4) 45539in

11) 1642cm

18) 141674.8278559cm
25) 471969in

32) 6828.5748029376
39) 8234

46) 2487/

53) 159,

60) $462.95

5) $21.30
12) 684ft
19) 1998in
26) ®16
33) $117.27
40) $206.61
47) $444.55
54) 128/

6) 12048.79322468
13) 115/,

20) 2%/ g

27) 877905in

34) 2309ft

41) 2%/,4

48) 3452in

565) 61560m
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729,
14) 26%Y
21) %5/

28) 14112 -
35) 22/,

42) 455625cm
49) 1390in
56) 2697cm
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